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¥ S p (= BUHE Y A=+ (absolute viscosity) )

Moleed - £ du
( >~ T 1 de)

X2 [p] = [M/LT] (I = |225] = [S2] = /i)

2| 1 1 poise = 0.1Pa-s, (&, poise—Z0tX, Pa—ItAZI=N/m?)

CGS: [u] = l F/4 ] = (g'cm/sz)/cm] [dyne/cm] [(dyne/cm?)s] = [poise]

du/dy (ecm/s)/cm 1/s
=[g/(cm - s)]
MKS: [l = [225] = 422 j/),fl "] = 252 = (v/mds] = [Pa- 5]
= [kg/(m-s)] =[10%g/(10°cm - s)] = [10 g/(cm - 5)]
= 10 poise
da SV Aertiem
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M/LT
M/L3

« XV =112/T) (V] = [u/p) =[5 | = 112/TD)

* S| 1 1 stokes =1 cm?/s = 107* m?/s

> CGS: [u] = [%] _ (dy?;%;nf)-s] _ l<(g'CTT;//S§1)7{3€m2>-s] - [chZ] _ [stokes]
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=9 =44 Ad2E14H4)

=T HISE 2T HMHT S8
T |y, IN/n] | p, [kg/m®] | u, [Pa-s] v, [m?/s]
0 9806 999.9 1.792<107° 1.792<107°
5 9807 1300.0 1.519<107° 1.519=107°
10 9804 999.7 1.308=107° 1.308=107°
15 9798 999.1 1.140=107° 1.141=107°
20 9789 998.2 1.005%<107° 1.007=107°
25 9778 997.1 0.8M<107° 0.897=1075
20 9764 995.7 0.801=107° 0.8 x=107%
35 9749 994.1 0.723<107° 0.727=1075
40 9730 992.2 0.656<107° 0.661=107°
45 9711 990.2 00.599=10 73 0.605x107°
50 9690 9881 0.549x107% 0.556<107°
55 9666 9%5.7 0.506<107° 0.513=107°
&0 9642 983.2 0.469x107° 0.477=107°
&5 9616 980.6 0.436<107° 0.444=107°
0 9589 977.8 0.406x107° 0.415x107°
75 9560 974.9 0.380<107° 0.390=107%
&0 9730 971.8 0.357<107° 0.367=1075
&5 9199 Yo.6 0.336=<107° 0.347=107%
90 9466 965.3 0.317<107° 0.328=107°
95 9433 961.9 0.299<107° 0.311=107°
100 9399 95h&3.4 0.284=107° 0.296x107°

=P

=2 C] HAHS | =SEAHL
¢ plkg/m?] WPa -] dlud/e]
0 1.293 1.710%10™° 1.322x10™
5 1.270 1.734x107° 1.365=10™
10 1.247 1.759%107° 1.411=10™°
15 1.2726 1.784x107° 1.455=107°
20 1.204 1.808x107° 1.502=10™°
25 1.185 1.839x10™° 1.546x107°
30 1.165 1.856x107° 1.592x10™°
40 1.128 1.904x10™° 1.688x107°
50 1.092 1.951x10~° 1.785x107°
60 1.062 1.997x107° 1.882x107°
10 1.029 2.043%107° 1.985x107°
&0 0.999 2.088x107° 2.090x10™°
90 0.972 2.132x10™° 2.193x10™°
100 0.946 2.175%107° 2.298x107°

S BJ|o Sel& & ( 1J1e)



Absolute viscosity t, N * §/m?
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_

T Ratio s v Hatio
Fluid kgflm - 5) pf g H,) kg/m” ms vie(Hg)
Hyvdrogen 8.8 E-6 1.0 0.084 1.05 E-4 920
Air 1.8 E-5 2.1 1.20 1.51 E=5 130
Gasoline 29E-4 33 680 422 E-7 3.7
Water 1.0 E-3 114 993 1.01 E-6 8.7
Ethyl alcohol 1.2 E-3 135 789 1.52 E-6 13
Mercury 1.5 E-3 170 13,580 .16 E-7 1.0
SAE 30 oil 0.29 33,000 891 325 E-4 2,850
Glycerin 1.5 170,000 1,264 .18 E-3 10,300

<1l 20°C HIMS =AM SdAH+= & sEdH=>

Shear stress, T

Oil Viscosity = Slope
T a

i = ——————— =i—

duldy b

Rate of deformation. du/dy
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u = 15.0Poise = 15.0 X 0.1Pa-s = 1.50(N/m?) - s O] 1,
Au=5m/s—0m/s=5m/s,

Ay = 10mm = 10 X 10 — 3m = 10 — 2mO| C}.

_ Au _ N . 5m/s 2
[(tetA T = Hyy = 1.50(N/m?) - s X o1 = 750 N/m

ot 7o HMAHFI}F 153107 kg - s/m? HIZS2F0| 850 kgy/m®0| o

SN
A= ¥ Stokesel7}?
y=pg »p=L=22"000 /M _ 850 kg/m3
¢ 15%x1072kg,-s/m* 1.5x1072 kg-s/m*x9.8m/s?
V= p 850 kg/m?3 B

850 kg/m?3
=1.73x10-"*m?/s =1.73 x 10 = * (10%cm)?/s = 1.73Stokes
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¢ 2EE ( Modulus of compressibility) : B

o y
vV

o
= —

et dP2t F1U|H 2}

FUIGV >V +dV 0|H

Fed
=

O
=

*

v
dP

p
dP

Ol P->P+dP & [,

P

Q, L

¥ Qs

=TT

SERE | RS
Q=P | > Q

0y

BJ

- 70

oL 30 K

DM__AI. ol

/_V._\mum

> 11

=5 VO U

n M

0 R O=

ol ~ ol

w o o

ol

ol

N




_ N

¢ MEEM I ( Bulk modulus of elasticity) : E (k)
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plkef /cm ]
(=22 NHEEAH =
otz
2EPC
0.1 ~2.5[MPq] 2.5~51[MPa] 51 ~7.6[MPa] 7.6 ~10.1[MPa]
0 1.930[GPa] 1.965[GPa] 1.989[GPa] 2.018[GPa]
5 1.980[GPa] 2.045[GPa] 2.092[GPa] 2.110[GPa]
10 2.026[GPa] 2.060[GPa] 2.141[GPa] 2.155[GPa]
‘ 15 2.049[GPa] 2.110[GPa] 2.179[GPa] 2.217[GPa]
20 2.065[GPa] 2.127[GPa] 2.224[GPa] 2.239[GPa]
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